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��� .HVLPSXODQ

'DUL�NHVLPSXODQ�GDQ�SHQJXMLDQ�\DQJ�GLODNXNDQ�SDGD�DSOLNDVL�3HQMDGZDODQ�

0HVLQ�.RSL�2WRPDWLV�%HUEDVLV�$QGURLG��GDWDS�GLVLPSXONDQ�EDKZD�

�� 'DUL� KDVLO� SHQJXMLDQ�PHODNXNDQ� SURVHV� SHPEXDWDQ� MDGZDO� GDQ� NRSL� VHFDUD�

ODQJVXQJ��VLVWHP�\DQJ�GLEXDW�WHODK�GDSDW�PHODNXNDQ�SURVHV�SHPEXDWDQ�MDGZDO�

GDQ� NRSL� VHFDUD� ODQJVXQJ� GHQJDQ� EDLN� GDQ� GDSDW� PHOLKDW� GDIWDU� MDGZDO�

SHPEXDWDQ�NRSL�\DQJ�VHGDQJ�DNWLI�

�� 'DUL� KDVLO� SHQJXMLDQ� PHODNXNDQ� SURVHV� SHPEXDWDQ� NRSL� VHFDUD� ODQJVXQJ��

VLVWHP�\DQJ�GLEXDW�WHODK�GDSDW�EHUSLQGDK�± SLQGDK�WHPSDW�GDODP�PHODNXNDQ�

SHPEXDWDQ� MDGZDO� GDQ� SHPEXDWDQ� NRSL� VHFDUD� ODQJVXQJ� VHODPD� WHUKXEXQJ�

GHQJDQ�MDULQJDQ�GHQJDQ�UDGLXV PDNVLPXP�������PHWHU�

�� 3HVDQDQ� SHQJJXQD� GDSDW� GLHNVHNXVL� NHPEDOL� ROHK�PHVLQ� NRSL� VHWHODK� NRSL�

VHOHVDL�GLEXDW�GHQJDQ�GXUDVL ���GHWLN��VHODPD����GHWLN� WHUVHEXW�PHVLQ�NRSL�

WLGDN�GDSDW�PHQJHNVHNXVL�SHVDQDQ�ODLQ�

��� 6DUDQ

$GDSXQ� VDUDQ� \DQJ� GLDMXNDQ� DJDU� GDSDW� PHQMDGL� PDVXNDQ� GDODP�

SHQJHPEDQJDQ�DSOLNDVL�LQL�DGDODK�

�� 8QWXN� SHQJHPEDQJDQ� VHODQMXWQ\D�� GDSDW� GLWDPEDKNDQ� VLVWHP� SHPED\DUDQ�

VHKLQJJD�GDSDW�GLMDGLNDQ�SHQJHPEDQJDQ�WHNQRORJL�EDUX�\DLWX�VPDUW�YHQGLQJ�

PDFKLQH�

�� $SOLNDVL� GDSDW� GLJXQDNDQ� VHFDUD� RQOLQH VHKLQJJD� 0HVLQ� .RSL� 2WRPDWLV�

%HUEDVLV� 1RGH0&8� ELVD� GLDNVHV� OHELK� GDUL� VDWX� SHUDQJNDW� DQGURLG WDQSD�

GLEDWDVL�GHQJDQ�MDUDN�
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�� 0HQDPEDKNDQ� ILWXU� DQWULDQ� VHKLQJJD� PHVLQ� NRSL� OHELK� HIHNWLI� GDODP

PHQDQJDQL�EDQ\DN�XVHU�VHNDOLJXV�


